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20208 A% A 4 of AHHE Al A

ARTE 1 e (&) : A9)
o= AdE .
32 g e QrEAnE L5
1oAY 1,112,178| 988,182| 123,996
1.4 Fo1drY 748,734 665,094 83,640
1. A AAd =+ 748,734| 665,094 83,640
1. A AAIIu A= | 387,740 318,215 69,525
2ol o Z A vz ® 9 :
1,908 7 = A AL u) A 9 2 387,740 318,215 69,525 53; gotzumAR WA A€l 33,200,000 33,200,000
- 8=
aPATEFR XY 18,000,000 #13])= 18,000,000
AFEeratal THE7] ARIA 1 19,500,00099 %1 19 500,000
8- ,500,
gl WeeF el /3= (A71H]) & 35,903,000 1
- 35,903,000
Sal WeeF g 281 2,000,000 x13]= 2,000,000
WEsw AY(Z5ER1A) 45,000,000 45000000
U=13]= B
Wl Esty QB E) ¢ 8,150,000 %1 8 150,000
3= ,150,
Wagsha AL (AFA4E) ¢ 12,140,0009 12.140.000
x13]= ’ ’
A EQAYE=ZIA] ¢ 3,840,0009#1
o 3,840,000
S A& 9 n%73H(3~580d) 91.900.000
21,900,000 «1 L= o
St AA D AR ¢ 52,000,0009%13]= 52,000,000
EFuSHEZY o7H] ¢ 30,170,000 x13]= 30,170,000
E48k3 £8h9] 1 3,000,000 %13]= 3,000,000
S W &9 6,000,000 1 6.000.000
3= B
S5ty wagEA A 0 450,00099+13]= 450,000
ol gt X1 mH] A 8,640,000 #13]= 8,640,000
WN2ZuS A SH(5~6313) : 15,627,000 %13] 15 627 000
WA AA A D :6,220,0009#13])= 6,220,000
I FYIAA 0 56,000,0009] x13]= 56,000,000
THFATN g A DALY ¢ 10.000.000
10,000,000 x13]= U
2. AW A7 REGn AAF | 360,994 346,879 14,115
1.2ks] A7 B g Al 360,994| 346,879 14,115 = (28w 72 74n8]  : 360,994,000%1 1= 360,994 000
2 A AR e A o] A ) 0/ 323,088 -323,088
1.H A HGFY 0/ 323,088 -323,088
Adke 20209 019 289 114] 378 322 4 WEF AF GRS F R 25l




20208 A %= A Q] of| AT A A]
oAb i 2ol 2 (gl A9
* & AdE
Sakel | e |HLEZH =71 Z=(9) H] a1
4 g s AhEANE e
1.3 A A A A = 0| 323,088 -323,088
1.2 Rz2F(FY) 0| 323,088 -323,088
3. 71l A5 363,444 0| 363,444
1.71ekg3 ol a4y 363,444 0| 363,444
1715 A A= 363,444 0| 363,444
1.7 S A L 363,444 0 363,444 |3t gAH] A5 2,390 #438™*187 U = 195,756,000
jd%‘r%’é‘*%t% ALF 1 2569+43878#187Y 20,968,000
ZEFA] 1R X9 140,000,000 13= 140,000,000
vl 5B} B-ARAF gHEH] 6,720,000 1 3= 6,720,000
2. AA 4 72,064  34,596| 37,468
1.8 R eka=gl 66,384 31,396 34,988
1A gy 66,384 31,396 34,988
1,529 61,884 31,396 30,488
1,940 33,732 31,396 2,336 A YFAH] ¢ 3,9009+278 187 = 19,692,000
AAYFAH 03,9000 #7278 %50 = 14,040,000
2.9-fre 2] 28,152 0 28,152 | 8HAY -] 40099 %4607 *180 Y *85%= 28,152,000
2. &JURN 4,500 0 4,500
1.9 89 4,500 0 4,500 A T9IH] ¢ 60,0009 %75 = 4,500,000
2.3 559 5,680 3,200 2,480
’ 1AM EY 58 2,400 1,200 1,200
1AM ERSESR 2,400 1,200 1,200
1A= 2,400 1,200 1,200 A AFE-E © 200,000 %129 = 2,400,000
‘ 2718184 &5 3,280 2,000 1,280
1ozl 2,600 2,000 600
1012l 2,600 2,000 600| ©1=F<FS] © 1,300,000 #23]= 2,600,000
2. 71618 A 559 630 0 680
L7455 680 0 ggo| 14 & RHIF T JIHATH + 136,0004+5%] 680,000
3. 71649 16,000|  20,000|  -4,000
Akl 20200 019 289 114] 378 32% 5 WER AFASHIUHAFEA =S58k




b Rl (b 2 2)
1AW= g5 16,000 20,000 -4,000
1.eAAd A F 16,000 20,000 -4,000
1.AAY = 16,000 20,000 -4,000
1.AAY S 16,000 20,000 -4,000 | Ad ol 9F 1 16,000,0009 #13]= 16,000,000

ke 20209 01€ 28Y 114 37+ 32%




20208A

bR 1 Helat Bl o)
A+
: : el | D55 0 HE712(2)
A ] | A AR A7HE AH & = o

LA & 46,500 45,096 1,404
1.z 52 8 AF7ts) 28,500 27,450 1,050
1. A hdAs 3,450 2,300 1,150
1.AFAR 3,450 0 3,450

1. a9 3,450 0 3,450 ALPAEAH] 1 150,000 %239 = 3,450,000
2. A A5 25,050 25,150 -100
1.3k 5] 23,550 0 23,550

1.5r &g 5m] 23,550 0| 23,550 | AL YABEFHHAH] ¢ 850,0009 #2314 = 19,550,000

ziﬂﬁﬂlx—l%‘%%sé%ﬂ‘ﬂ : 500,000 8 4,000,000
2. A APA g A 1,500 0 1,500

1. k81 500 0 500370 A3 1 500,000 #13]= 500,000

2. 17 ¢ =24 1,000 0 1,000| Sm) 48] 200,0009#53]= 1,000,000
2718 wA YR ¢ 18,000 17,646 354
1.3t FA A+ 18,000 17,646 354
1. 0850 18,000 0 18,000

1.3t g3 A A5 18,000 0 18,000 | ALY A F-EFH] 1 1,500,000 «12Y= 18,000,000
2. S EA /AR )4 499,620 431,549 68,071
1.52 #¥ 418,608| 374,484| 44,124
1.8ug2e9g 418,608| 374,484 44,124
= e e a AL 148,850 0| 148,850

LE7AkA QA0 | 125,749 0| 125,749 ;ijo(:)olg,izs,ooo%mvg*10@—74]#&%3 70,480,000

T4 1 430,930 #4129 = 20,685,000

HAF ] 500,000 x4 #238] = 4,000,000

AHTEFG 50,0009 #4109 = 2,000,000

AAZEE 91,1500 %109 = 912,000

F21H] 130,000 #4H 10D = 5,200,000

7} 1 70,0009 #4129 = 3,360,000

AZFEAFE] ¢ 87,0009 #15QD # 4+ A2 A 5,256,000

36,0009=

Adked 2020 01€¢ 28Y 114] 373 32%




202081 A &= A = of| 4T Al A
AR L Reat wel )
A+
: : Aty 3:‘3}% o HE712(4)
A ] | A AR A7HE AH & e SR
ZHEEEG 20,0009 #4104 7h= 800,000
471745 1 900,000 48 = 3,600,000
H AU T 2,364,000 %4 = 9,456,000
2. 71 A A 1211 8,850 0 8,850 A|ZHAIEZ ¢ 25,0009%130 = 3,250,000
tiAel® 70,0009 %80Y = 5,600,000
3.5 B AN 2,000 0 2,000 | 2FF HAH] 500,000 x478= 2,000,000
45 AR AREE | 12,251 0 12,251 ji;ij(%ig: 260,00090+478 128 A 5= 12,251,000
2. 32 A 5 H 232,710 0| 232,710
LaAg2 A= 204,558 0 204,558 | A A=TA(HH) & 15,660,500 %10 = 156,605,000
_T;LA‘ZHE??J(?%‘Z}) © 2,698,480 %109 26,985,000
X137 B A BT 2,006,800 #10Y = 20,968,000
2. 9frd= 28,152 0 28,152 953211 4009 #4608 #1802 +85%= 28,152,000
3.5 37,048 0 37,048
148l 93,548 0 23,548 TATFRALEETY - 62,880+108+104) 6.288.000
iigl%n‘fal UZFAAFE 1 400,000 4,000,000
LA & 7] A 28] 1 400,0009%109= 4,000,000
T2 EYEETYH ¢ 800,0009%10F = 8,000,000
FAEST : 140,00099Y= 1,260,000
2.8 ER 6,000 0 6,000 |43H=25 1 600,000 #10€= 6,000,000
3.8 7,500 0 7,500 A 7FAE © 750,0009%109 = 7,500,000
2.0 713%¢ 20,512 17,065 3,447
1. 3P A B 2] 9] W 24 b 2] 10,762 10,065 697
1.8 4,136 0 4,136
1. dnkpgn) 3,636 0 3,636| S SFEG14JH] 1 400,0009)#43] = 1,600,000
HFHL AR ESY 0 700,00099%13] = 700,000
WAEETY 1 234,000943] = 936,000
BAYPAL 1 20,0009%103]= 200,000
SHAYFE LA EN : 20,0009%103]= 200,000
Akl 20209 019 28Y 114] 374 32% 8 WER AT WS S F A 25w




202081 A = A= of| AT A A]
bR 1 Helat wel A
A
- darey | AEE vl AEAN2(D)
4| a9 | A% AReE QrEAN At | 3k
2. 6959 300 0 300 J;f%%%iﬁm%%wﬂ +300,000€+1 300,000
3.5 H| 200 0 200 | B A NS4 H] 1 200,000 #135]= 200,000
2.8 107 Pz 4,846 0 4,846
1.3 52 1) 4,846 0 4,846| A7 AR (1,480d) 1 21,000¢1507 = 3,150,000
T7ZAAE 1 4,30091%320 = 1,376,000
WAL 1,0009) #3209 = 320,000
3.8t ek v 1,780 0 1,780
1.3 EA] 1 1,780 0 1,780 Stalebd A 8H] © 4,000 #4458 = 1,780,000
2.3t a 3k 9 A e 9,750 7,000 2,750
1.3t 373 91 A e 9,750 0 9,750
1. dukEgn) 9,750 0 9,750 A<E71#2H] 1 400,000 %129 = 4,800,000
Hed A =H] 1 250,000 53] = 1,250,000
5714 A A ] 1 200,0009#23]= 400,000
FTNAEZAFFE 600,000 23] = 1,200,000
371337 I8 A 1 70,0009 #3041 I
8- ,100,
3.0 A} Fa 56,000 40,000 16,000
1. A H A 0 40,000|  -40,000
2.7 WAL Y 56,000 0| 56,000
1.0 A TG A D 56,000 0 56,000
1.3 A 56,000 0| 56,000 Zf AL S A A 28,000,000€2 56,000,000
4.3 EA 4,500 0 4,500
1.8 822 4,500 0 4,500
1.EG AN A= 4,500 0 4,500
1.gAXA= 4,500 0 4,500/ QB0 AZ 60,0009 %759 = 4,500,000
37184 a&dy 207,590 202,196 5,394
1.0y g% 182,841| 174,672 8,169
1. azesx 9 13,325 6,640 6,685
1.2 A5 2,000 0 2,000

Adked 2020 01€¢ 28Y 114] 373 32%




20208A

oAbt 0 EeAb el s H1)
At
: : el | D55 0 B 2(2)
A ] | A AR A7HE AH & e s
12959 2,000 0 2,000 B A5 1 10,0004 %2004 7= 2,000,000
2.3+ 2 % 4,800 0 4,800
1.8 g 4,800 0 4,800 1EHA(ARRA) : 120,00081+105) 1,200,000
AFFYH] 600,000 #68A= 3,600,000
3. 85 FH BT Y 6,525 0 6,525
1. 0529 A 6,525 0 6,525 ShEEHl =TS 1 15,0000 #435W = 6,525,000
2.3 gE 43,731 49,830 -6,099
1. 7854 2,500 0 2,500
1. A& 2,500 0 2,500 | A& ZEA8H 1 250,000 %10F= 2,500,000
2. 4G = 2,800 0 2,800
1. 05390 2,800 0 2,800 | AFAEH] © 1,400,00099%23]= 2,800,000
3. 9T R 2D 38,431 0| 38,431
1371 AR A 4RI M 35,068 0 35,068 | 7] 23 : 1,823,000 %10Y= 18,230,000
2449 1 700,0009129= 8,400,000
WAF7H] 1 500,000 %23]= 1,000,000
28] ¢ 130,0009109= 1,300,000
V&S 20,0009 %129 = 240,000
AZFEARE] 90,0009 %209 = 1,800,000
ZIESET 0 13,0009#504) 2= 650,000
A7)l T 1 450,0009)%23]= 900,000
HAHHYF ¢ 2,548,000 1= 2,548,000
2.7 A kA R AR 3,363 0 3,363 | AR 1 280,250 12 = 3,363,000
3. ASw % 26,240 23,740 2,500
1. A& gs 500 0 500
1. 0529 H 500 0 500 | ASEFTY ¢ 50,0009%107]= 500,000
2. st A KA 3k A ¢ 25,740 0 25,740
1. 25$-990) 25,740 0| 25,740 fogﬂ%%@ (3-58d) = 50,00091+43878 21,900,000
EQ2a¥= ZJALE ¢ 3,840,000 «13= 3,840,000
Akl 20209 019 28Y 114] 374 32% 10 WER AT WS S F A 25w




20208A

ATE 1 Relak R
A
: - el | D55 0 B 2(2)
A ] | A AR A7HE AH & e s
4. s=atdE 2,100 4,140 -2,040
1. 5ot w s 1,300 0 1,300
1. dk8-1) 400 0 400 | }71 g R & ¢ 100,000 4= 400,000
2.8 F 79 900 0 900|2t7] Q) © 450,000 *2t= 900,000
2. gotul| et 800 0 800
1. dRkp8n) 800 0 800 2] & A2 @ 1,000+100%4-= 100,000
4R 2 200,000 «17]= 200,000
Foled 2 =9 1 500,0000%13)= 500,000
5.9 =0 witghs 40,460 40,040 420
1. oWl B 2 WALl AH| 35,060 0| 35,060
1.7]1 A L 17 H] 32,300 0| 32,300|7]%5F : 2,300,000 *12¢¥= 27,600,000
AN A FRAFH] 700,000 x13]= 700,000
ﬁg:&% Alkgk= A QH] ¢ 1,300,000 1,300,000
HHHYF © 2,300,0009#198= 2,300,000
23449 0 20,0009#204] 7= 400,000
2. 71 A Y A B 2,760 0 2,760 | A FH5 1 230,0009+12¥Y= 2,760,000
2.9 T A AR 4,800 0 4,800
1. dnkpgn) 4,800 0 4,800| FE1QIAFE : 400,000 %128 = 4,800,000
3.9 0] a3} 600 0 600
1. k81 200 0 200| ol A u)EFe] 20,0009 %10%F= 200,000
2. 2589 u| 400 0 400 | FAAA AR R EA T ¢ 40,0009+10F= 400,000
6. 5F G ReE 56,985 50,282 6,703
1.EFUSEESY 35,595 0| 35,595
1.5 71 A kA 12171 H] 32,451 0 32,451 | 7)1 ®F © 1,823,000 %10 = 18,230,000
245 1 546,0009%109= 5,460,000
W AF7HH] 500,000 #23]= 1,000,000
A4 1 130,0009 %109 = 1,300,000
?g&iﬁﬂ] 73,7009 %18U+ AFEA 1.328.000
Akl 20209 019 28Y 114] 374 32% 11 WER AT WS S F A 25w




20208}

o AETE ¢ o2t (s] : 9)
A+
: : el | D55 0 AEAN2(D)
A ] | A AR A7HE AH & e SR
7}ES9 1 100,0009 129 = 1,200,000
ZI ST 13,0009 #504] 7= 650,000
A7)0l 1 450,000 %23] = 900,000
HAAHF 1 2,383,00091%= 2,383,000
2. %71 A AP AL 3,144 0 3,144 WA REF ¢ 262,0009129= 3,144,000
2. 78N A] 18,090 0 18,090
1. 05290 17,640 0 17,640 iff&%“&ﬂiﬂﬂ%% +1,000,0004+6 6,000,000
el st A E 3k 219 500,00099#6™ = 3,000,000
ol stAA 5 A ¢ 1,440,000 6= 8,640,000
2. =AM 450 0 450 | et 24 ¢ 150,0009) 33 = 450,000
3. 5T a e 3,300 0 3,300
1. &g 3,300 0 3,300 AL TS 1 200,000 #43]= 800,000
WGEEARTY 100,000 <6 = 600,000
Agst5eE 1 150,0009469 = 900,000
ZFefjol s i 150,000 6™ = 900,000
5874714 1 100,0009138])= 100,000
2.%94 AL 24,749 27,524 -2,775
1LAEES 24,749 24,064 685
1.8 8lol o] &3] 1,500 0 1,500
1. a9 1,500 0 1,500 L =02 1 1,500,000913]= 1,500,000
2.54 83 &5 1,584 0 1,584
1. a9 1,584 0 1,584 |34k 2412 342,0009%23] = 634,000
ﬁ—%jﬁﬂ A A% F 0 300,000 %1 300,000
A3 &9 1 300,000 +23]= 600,000
3.3 W 5,400 0 5,400
1. a8 5,400 0 5,400 F L5850 300,000 x183F= 5,400,000
4.3 5 A 638 0 638
1. a5 638 0 638 | EF9) 1 500,0009*13]= 500,000
Akl 20209 019 28Y 114] 374 32% 12 WER AT WS S F A 25w




20201 &= M| = of 2HTE Al A

bR 1 Helat (29 = A
A
" dapey | A=l AE72(9)
4| a9 | A% AReE QrEAN At | 3k
ARl & ¢ 138,000+13]= 138,000
5.2 NHEF 15,627 0 15,627
1. &L 15,627 0 15,627 33@;;1%%%(5,6@@ + 1,100,000 11,000,000
30&;i1%‘1%"é EFTY 1 462,7009 4,627,000
2. AFAITHEE 0 3,460 -3,460
4.8 Wy 72,690 62,100 10,590
1.3t &9 | 65,290 55,700 9,590
IR S 20,290 16,200 4,090
1.EsWasdsad | 8,150 0 8,150
1. 058 8,150 0 8,150 EQXZ 13 &9 : 815,0009%10Y= 8,150,000
2. 525850 12,140 0 12,140
1.8 12,140 0 12,140 f‘}ﬂ}iﬂﬂx Fd  1,214,000€+104 12,140,000
2. 58w 45,000 39,500 5,500
1.258804d%9 45,000 0| 45,000
1.8 45,000 0| 45,000 E%uld29H : 4,500,0009+10Y= 45,000,000
2. 54 8% 7,400 6,400 1,000
1.5AMZ2529 7,400 6,400 1,000
1.2ATY 5,000 0 5,000
1. =X 7§00 5,000 0 5,000 =A17+4 : 10,0009 %5007 = 5,000,000
2. 54489 2,400 0 2,400
1. g RkE8H 2,400 0 2,400 | A1 F=2FYAF ¢ 200,000 x631d= 1,200,000
SABPAFE FY : 200,0009%53]= 1,000,000
AP EST] G 29 1 100,000 23] == 200,000
5.1258% A9 86,186 78,194 7,992
105747 11,644 13,678 -2,034
1. WH3ALEY 11,644 13,678  -2,034
1.7 1,320 0 1,320
1. dr8-9) 1,020 0 1,020| 8- A 2 ¢ 260,000 %13)= 260,000

Adke 20209 019 289 114] 378 322 13 WEF AF GRS F R 25l




20208A

oAbt 0 EeAb el s H1)
A
" dapey | A=l AE72(9)
4| a9 | A% AReE QrEAN At | 3k
o H] 2 AAEA 2L 07,0009 #804-= 560,000
4t 71 eb 4 H] 200,000 %13]= 200,000
2. 2953 300 0 3008t A @4 ¢ 150,000 2= 300,000
2. 9438l E g4 4,760 0 4,760
1. a9 4,760 0 4,760| A QA A Z} 1 5,000 %720 = 360,000
QFAE 10,0009 %72%= 720,000
4z 1 90,0009 #270= 180,000
Z2)&F4 48 3,500,000%15]= 3,500,000
3. W BRALS- 5,564 0 5,564
1. A& 3] 5,564 0 5,564 | Z+EAALA QD 1 2,564,000 #13 = 2,564,000
ijﬁ% 2 solg]&E XY 500,0009 2,500,000
a2 A8z 1 500,0009)13] = 500,000
2.7 &9 10,000 10,000 0
1A 10,000 10,000 0
145829 10,000 0 10,000
1. 8o 10,000 0 10,000 | A3FaL+% 1,000,000 x103]= 10,000,000
3. 349 &% 15,059 14,035 1,024
14 600 500 100
19542 600 0 600
1. Yuk=gn) 600 0 600 52 2] : 100,000 x65= 600,000
2. A H 38 14,459 13,535 924
1.8 13 14,459 0 14,459
1.9 14,459 0 14,459 | 1CT&-8- 15 © 49,00090#21%= 1,029,000
EUZARZETY ¢ 120,500 #40th*23]= 9,640,000
AR} FA B 0 300,0009 129 = 3,600,000
o] Aol 7 (&g HA) 1 190,000 +1al= 190,000
4.5 JhA 3,660 2,780 880
1. 0434 )4 3,660 2,780 830

A 20209 01 28 1

1A] 37+ 32%
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20208A

AT Helat (9] : 29D
A+
: : el | D55 0 HE712(2)
A ] | A AR A7HE AH & e s

1.3 3 8s 3,660 0 3,660

1.k g 3,660 0| 3,660 THEBBEEETH + 120,008 -18%F 2,160,000

B4 (dd) : 50,0009%10E= 500,000

st gaaha] 100,000 #10%= 1,000,000
5. A =g 45,823 37,701 8,122
LAY A = 37,903 37,701 202
1. AR AR ] 35,903 0 35,903

L7 Al kA Q1 v 32,725 0| 32,725|7]1¥5F : 2,023,000 119= 22,253,000

TEFT 140,000 %119 = 1,540,000

BAF7H] ¢ 500,000 #23]= 1,000,000

FAH] 1 130,0009 %119 = 1,430,000

AF4g 1 20,0009%119= 220,000

AZFEA] 1 67,0009) %52 = 335,000

7FEe 1 140,0009 %11 = 1,540,000

ZIEET 0 13,0009%504) 2= 650,000

A7NFAF 1 450,000 #23]= 900,000

HAHYF 2,857,000 %18 = 2,857,000

2. FNAGH ARG 3,178 0 3,178 | A F-H5  264,800912¥Y= 3,178,000
2.4 2,000 0 2,000

1. QukEgn) 2,000 0 2,000 WeeZ a2 &<3u] : 200,0009*10L= 2,000,000
2.8t Z & o} 7,920 0 7,920
1.3 mZ e ok Y 7,920 0 7,920

1.9 7.920 0 7,920 ngi%APX}%L%Hl : 10,0000 #564] ZF+12 6,720,000

AN S A 1,200,000
6.3t Quke-of 284,656 223,643 61,013
1AA A §3 121,640 100,673 20,967
1.3 A H] 6% 121,640 100,673 20,967
1.3F8F 2 AT 60,340 0| 60,340

Akl 20209 019 28Y 114] 374 32% 15 WER AT WS S F A 25w




20208A

ATE 1 Relak R
A
- ey | 395 RESEIC)

49w A% AvgE aAEANE eakel 4
14785 42,600 0| 42,600 A7] &5 : 3,550,000%12Y= 42,600,000
2. 8RR 6,960 0 6,960 | %F3trE 8= (AE) 1 580,000*12¢= 6,960,000
3.98n) 1,300 0 1,300 | TFed 0] 1 200,000 #49= 800,000
A BEA 7L 1 100,0009)#58 = 500,000
4718} T8H 9,480 0 9,480 A3t F 1 150,000 «12Y= 1,800,000
if%:iﬁﬂi AH) 2~ o] &E ¢ 40,0009 480,000
$HaF 1 25,000912¢9= 300,000
AEYHCCIVAREE & 125,000 %129 = 1,500,000
2FY S HAARE S 1 400,0009+129= 4,800,000
SR N AT FFEITE ¢ 50,0009 %12 = 600,000

2. A1 kg 51,220 0 51,220
1717k A 170w 5,180 0 5,180/ 982 % <17 : 70,0002 *37U= 5,180,000
2. 48] 36,820 0 36,820 | A=z L A3t x4d2 1 600,0009 #2F#23]= 2,400,000
AP R A - 280,0009x10¢€= 2,800,000
AAEFA RS 0 1,556,0009+103]= 15,560,000
AT EE 1 300,0009%15%= 4,500,000
s sEA T4 1 600,000943]= 2,400,000
st gl ¢ 1,000,0009#23]= 2,000,000
ZFAAETS] 1 250,000 #43]= 1,000,000
WALELCYH A 1 4,000,000 %13]= 4,000,000
A1) 90,0000 x2th 12U = 2,160,000
3. HETG ] 9,220 0 9,220| HAL7] A (63d) 3,000,000 1= 3,000,000
AL AATF] 622,000 %105 = 6,220,000
3. A1 e g 10,080 0 10,080

1. k=89 10,080 0 10,080 | 5771 A 22 : 140,000 *12U= 1,680,000
A7IAA AT ¢ 250,000 129 = 3,000,000
f:“&(“&i‘r)*]"é%xl%al 1 150,000 %12¢ 1,800,000
Fo14u &9 8 ¢ 300,0009+129= 3,600,000
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202081 A = A= of| AT A A]
bR 1 Helat wel A
A
- qarey | A= H® AEAN2(D)
4| a9 | A% AReE QrEAN At | 3k
2.3tw e {Y 400 800 -400
1.3 ey 400 800 -400
1,898 TS 400 0 400
1. A& 3] 400 0 400 | BHE R A F-2-of  300,00090%13]= 300,000
SRR AL 1 100,000 x13]= 100,000
3.8m7)% ¢ 162,616 122,170 40,446
15X 71789 46,713 35,112 11,601
1. A28 26,731 0| 26,731
1. g Rk=8H 6,731 0 6,731 | AFF-EF ¢ 104,1009 X 10%= 1,041,000
BALLA] 1 25,0009 #1047} #83] = 2,000,000
AHEZ) 7] 2B 250,000 #93]= 2,250,000
DHEFER 60,0009 #43]= 240,000
744048 200,000 #63]= 1,200,000
2.0 20,000 0/ 20,000 &A1) 1 40,0009%3503]= 14,000,000
EEPX}EOS_#HI g o] @ 6,000,000 1 6.000.000
2.3 3,500 0 3,500
1. kg0 3,500 0 3,500 | F-=-&-dH] : 500,000 *13]= 500,000
AREYFAF © 1,000,0009)%13)= 1,000,000
SH-APAL 2 2,000,000 +13]= 2,000,000
3. 9754 3,800 0 3,800
1. g RkE8H 1,860 0 1,860 | A=Al ZF 80,0009 %23]= 160,000
AEHAA A 1,500,000 x13]= 1,500,000
AEIAATE 1 100,0009#23]= 200,000
2. 959 100 0 100| ]2 7AAZH 7] & ¢ 100,000 %13]= 100,000
3. A5 1,840 0 1,840 A+ AE © 80,0009 %235 = 1,840,000
4. 95-Fm 12,682 0 12,682
1. ¥k 7 5%14] 9,430 0 9,430 | LA A ZAM] 1 50,00099%153]= 750,000
;H:J 92 wAY 2AAETS] 500,000 6 3,000,000
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202081 A &= A = of| 4T Al A
AT ¢ el (9] © )
A+
: : el | D55 0 AEN 2 ()
A ] | A AR A7HE AH & SR Che
FrB7)# 2123 130,0009%103]= 1,300,000
WA Y73 1 20,0009 %37 #33]= 2,220,000
%Eg?ﬂQQEEﬁ%‘ : 30,0009 %12 2160000
2. AAFG TP AH 3,252 0 3,252 | A AFJHF-F310] ¢ 271,0009+129= 3,252,000
2. WA ANE & 115,903 87,058 28,845
1AM-R 2999 37,281 0| 37,281
1571 Al R A 1 R1A M 33,976 0 33,976 7] ®F : 1,823,000 #12¥= 21,876,000
I:L(—)ﬁgi% © 312,000 129+ A =5 A 3.745.000
WA 1 500,000 %23]= 1,000,000
21 ¢ 130,0009 129 = 1,560,000
AZFRAR] 1 79,0009) %199 = 1,501,000
7FEEE 20,0009 129 = 240,000
ZIEEFT 13,0009 #504] 7= 650,000
A7NGAF 1 450,0009)#23]= 900,000
HAHUF 2,504,000 1= 2,504,000
2. 571 Al kA P A S 3,305 0 3,305 | HAFTH ¢ 275,400 +12¢¥= 3,305,000
2. 13kl 38,782 0 38,782
1.5 71 A kA 117 H] 35,365 0 35,365| 7] ®F : 1,823,000 %12Y= 21,876,000
TE4T 0 426,0009 129 = 5,112,000
BAF7H) 500,000 #23)= 1,000,000
A4 1 130,0009 %129 = 1,560,000
A7FEARE] : 80,0009#21Y= 1,680,000
ZIFSG  13,0009#504] 7= 650,000
A7)l T 1 450,0009)%23]= 900,000
HAHYF ¢ 2,587,000 1= 2,587,000
2. FNAGH ARG T 3,417 0 3,417 HAFHF ¢ 284,7009 12 = 3,417,000
3. 7H 3 gkstal - 20,840 0 20,840
1. 5971 Al kA 41710 18,840 0 18,840 | 71 ¥-5F & 1,450,000 X 10¥= 14,500,000
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20208H A = M=o AE AN

F24H] 1 130,0009] X 109= 1,300,000

HAF7H] 500,000 < 23]= 1,000,000

HAAYF ¢ 1,518,0009 < 19= 1,518,000

A4 ¢ 522,0009 X 1= 522,000

2. 5 E P H5A 500 0 500 | & EA 0] 1 500,000 1= 500,000

3. A A AP AT 1,500 0 1,500 | A ST 1 125,000 < 129= 1,500,000
4. FAAYT B8 T 19,000 0 19,000

L7 Al kA Q1 v 19,000 0 19,000 2‘%:3) ﬁéﬁiﬂﬁﬁi @ii%oo Q- 19,000,000
7.80 AFEE 3,000 0 3,000
1. dn)n] 3,000 0 3,000
1. <juln] 3,000 0 3,000
1. dm)n] 3,000 0 3,000

1. eju]n] 3,000 0 3,000| & H]1H] : 3,000,000 = 3,000,000

Avted 20201 01€ 289 114 37%# 32%
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